














y = 0.9884x + 46.274
r = 0.159,  n.s.
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y = 0.186x + 50.997
r = 0.683, p < 0.05
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y = 0.3734x + 29.558
r  = 0.120, n.s.
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y = -2.203x + 57.719
r = 0.640, p < 0.05
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y = -2.4343x + 69.694
r = -0.699, p < 0.01
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y = 1.4596x + 13.775
r = 0.775, p < 0.01
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y = 0.0382x + 44.625
r = 0.132, n.s.
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y = 0.033x + 32.958
r = 0.01, n.s.
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y = 0.901x + 18.562
r = 0.419, n.s.
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y = 1.9333x + 13.917
r = 0.726, p <0.01

37.0

37.5

38.0

38.5

39.0

39.5

40.0

12.0 12.5 13.0 13.5

30
0m

[s
]

100m [s]

y = 1.6211x + 8.1888
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